144/Eco.(0). | UG/1st Sem/EcoG-cc-T-ms

U.G. lst Semester Exammatlon - 2023

ECONOMICS
4 [PROGRAMME]
Course Code : ECOG-CC-T-1
[Old CBCS Syllabus]

Full Marks 60 . Time : 2 Hours

The figures in the nght-hand margin mdzcate marks.

Candidates are required to give. their answers in.
* their own words as far as practicable.

1. . Answer any - ten questlons - Cox 10=20
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a) Distinguish between short run and long run in
. the context of productlon
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b)) Whatis opportmnty costv
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c) Whatis consumer Surplus‘7
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d) State t“"o cases when the law of demand ‘is
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| t is economies of. scale?
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f) Whatis  Ridge Line?
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g) Whatdo you mean by expansion path ? _ o 5) Define price elasticity of Demand. Discuss
TSI TS R Qe . L . : any two determinants of Price Elasticity of
*'h) - Describe the law of Dlmmlshmg Margmal | - Demand. - . 2+3
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1)  State the law of variable proportion.
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) ’Tﬁ?\'ﬁﬂ WEW RRG WW 391 . . Explain. graplucall)’, why does two isoquants
i) Paradox? - ¢) Exp h other. 5
. i) What do you mean by Giffen o o cannot intersect each other.
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k)  Define Production function. , : . : o fﬁ%m JrYt 91 :
Gl SR RS | - | d) Whatdoyoumeal by marginal rate of techni-
1)  Mention two factors which affect elast1c1ty of . ' calsy bstltutlon between two inputs? How does
demand, o it detesmine the slope of the ISoquant? 2+3
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m) Ifprice of tea falls, what will be the effect on Eﬁiﬂ%&% mwaﬁcfgwmgﬁm
~ demand for. coffee? . : ' R Z?@w
B-93 7y W CoG=T, W ﬁﬁ‘fﬁ ﬁ?ﬁ W . S e) Expla’n the relation. betWeen average product
@ - : marginal product (MP) of labour with
n) -Dlﬁerennate between perfect competmon and : : : (AP ) and

pure competition market. A
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B mdlﬁerence curve of the consumer.

0)  Whatisthe shape of Indlfferﬂ’aﬂc"3 curve if two D g:glﬂln why indifference curve is convex to
£00ds are perfectly substitutes’ ‘ gt - - 2+3
R g sl AR T O T '%mwﬁ?m?ﬁ«w b oo
IR Pgist 7712 \ 8T T
Answer any four questions: >x4=20 two questions: - 10x2=20
-GNt ' Answer 893 TEawie 8 ,
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) Write down the charact enStlcs of perfectly &= “ doyou understand by Average fixed cost
“OMpetitive market. ﬁ a) “:if ¢)? Draw an AFC curve. Establish the
o G stion that Long run average cost curve
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is the envelope of all Short run average cost
. curves. N T 2+2_|.6
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b) Show that for a normal good price effect is-
o equal to. the summation of substltutlon effect -

and income effect. S .10
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| ¢) . Draw a short-run and long-fun production
function. In the short-run productlon function -

*show the three stages of production. ~ 2+8
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d) Differentiate between Break"”"en point and

Shut do uction. Discuss how -
wn point of prod - ttaine d by .

- the short nin equilibrium i 4+
| perfectly competitive firm. 6
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